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T.Y.B.COM
BUSINESS REGULATORY FRAMEWORK (M-law)

(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is 'Acceptance of Proposal? Explain in detail the Legal rules for'

Acceptance of proposal. [16]
02) What do you mean by contract of Bailment? Explain the rights and duties of
bailor. [16]

OR

Differentiate between 'conditions' and ' warranties' in the context of sale of
goods act. Write detailed note on Implied conditions.

03) a) Explain the objectives and activities of world Intellectual property
organisation. (WIPO) [8]
b) Explain the rights and responsibilities of patentee. [8]
OR
a) Explain in detail the salient features of consumer protection Act. 1986.
b) What is 'copy rights? State the characteristics of copy rights and rights
of the copyright holders.

04) Define the term 'Negotiable Instruments'. Write a note on various types of
negotiable Instruments. [16]

05) Write short notes (Any two) [16]
a) Digital signature.
b) Types of contract.
c) Powers and Duties of Arbitrator.
d) Importance of E - commerce.
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T.Y. B.Com
ADVANCED ACCOUNTING
(2008 Pattern)

[Max. Marks : 80

Instructions to the candidates:

1)  All questions are compulsory.
Figures to the right indicates full marks.
Use of calculator is allowed.

2)
3)

Q1) A)

B)

Answer in one sentence only (Any Five) [10]

i)  What are the methods of finding the profit or loss under Single
Entry System?

i) What is the percentage of profit transfer to the Statutory Reserve
Fund by the bank every year?

i) Unallocable expenses are transferred to which account?

iv) The closing balance on ‘Goods Sent to Branch Account’ is
transferred to which account?

v)  Accounting Standard -25 stands for what?

vi) What do you mean by Ex-interest transaction

vil) What is the formula for calculating Debt-Equity Ratio?

Write short notes on (any two) [14]

i)  Types of Branches.

i)  Allocation of expenses under Departmental Account

iii) Rebate on bills discounted.

iv) Difference between Management Accounting and Financial
Accounting.

v)  Accounting Standard-3: Cash Flow Statement.
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Q2) From the following balances of The Deccan Bank Ltd as on 31% March 2014;
prepare its Balance Sheet as at 31* March, 2014 and Profit and Loss Account

for the year ended on that date: [14]
Particulars Debit (Rs) | Credit (Rs)
Share Capital (shares of Rs 100 10,00,000
each Rs. 50/- Called up)

Profit and Loss Account on 1.4.2013 81,500
Current Deposit Accounts 21,44,000
Fixed Deposit Accounts 23,43,000
Savings Bank Accounts 11,07,000
Director's Fees 9,300
Audit Fees 8,800
Furniture 85,900
Interest and Discount 7,04,000
Interest paid on Borrowings 4,00,400
Commission and Exchange 2,03,000
Investments 18,40,000
Branch Adjustment Account 2,04,000
Postage and Telegrams 4,100
Printing and Stationery 2,800
Premises 17,03,000
Salaries 67,000
Law Charges 5,300
Provident Fund Contribution 11,200
Cash in Hand 2,07,000
Bills Discounted and Purchased 61,000
Unexpired Insurance 2,700
Statutory Reserve Fund 72,000
Contingency Reserve 7,000
Loans, Cash Credits and Overdrafts | 30,49,000

76,61,500 76,61,500
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Additional Information:

i)  The Authorized Share Capital consists of 20,000 Eq. Shares of Rs. 100
each, all of which have been subscribed but only 50% have been called-

up.

i) The Bank has accepted bills worth Rs. 3,00,000 on behalf of customers
against the securities of Rs. 4,00,000 lodged with the bank.

iii) Provide depreciation on Premises Rs. 90,000 and on Furniture Rs. 8,000.
iv) Provide Rs. 28,500 for doubtful debts.
v)  Rebate on bills discounted amounted to Rs. 7,100.
vi) Provide Rs. 10,000 for Taxation.
OR

Anagha Investors Company Ltd. submits the following details regarding one
of their 6%

Investments for the year 2013-14.

Opening balance on 1.04.2013, face value Rs. 3,00,000 at Rs. 2,80,000. The
following purchases and sales were made out of these investments during the
year ended 31.03.2014.

Purchases on:

i)  01.08.2013 face value Rs. 50,000 at Rs. 101/- Cum-interest.
i) 01.11.2013 face value Rs. 75,000 at Rs. 103/- Ex-interest.
Sales on:

i)  01.09.2013 face value Rs. 50,000 at Rs. 104/- Cum-interest.
i) 01.02.2014 face value Rs. 1,00,000 at Rs. 103/- Ex-interest.
The interest is payable on 1% January and 1% July every year.

Write-up Investment Account as on 31.03.2014. Investments on 31.03 .2014
are to be valued at cost by First-In-First-Out method. [14]
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03) a) A fire occurred in the premises of M/s Pawar & Co. on 15" October
2013. From the following details ascertain the loss of stock and prepare
a claim for insurance:

Particulars Rs.
Stock on 01.04.2012 68,000
Purchases from 01.04.2012 to 31.03.2013 2,44,000
Sales from 01.04.2012 to 31.03.2013 3,60,000
Stock on 31.03.2013 60,000
Purchases from 01.04.2013 to 14.10.2013 2,94,000
Sales from 01.04.2013 to 14.10.2013 3,00,000
The Stock salvaged was Rs. 36,000. The amount of policy was
Rs. 1,26,000. There was an average clause in the policy. [8]

b) Shri. Shubham Patil keeps his books under Single Entry system. He
gives you the following information relating to the year ending 31 March

2013.
Summary of Bank Transactions
Dr Cr
Particulars Rs. Particulars Rs.
To Balance b/d 4,350 | By Drawings 7.520
To Sundry Debtors | 38,400 | By Trade Creditors | 27,100
To Bills
Receivable 12,000 | By BillsPayable 9,300
realized
To Commission 1,500 | By Wages 12,000
Received
To Cash Sales 8,600 | By Salaries 6,500
To Balance c/d 3,350 | By Rent and Taxes 4,400
By Insurance 300
By Carriage 250
Inward
By Advertising 330
68,200 68,200
By Balance b/d 3,350
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Particulars of Other Assets and Liabilities | 31.03.2012 31.03.2013
(Rs) (Rs)
Stock on hand 18,700 23,400
Debtors 12,000 14,000
Creditors 9,000 1,500
Bills Receivable 4,000 5,000
Bills Payable 1,000 200
Outstanding Salaries 600 1,200
Office Furniture 600 600
Office Building 12,000 12,000

A provision of Rs. 1,450 is required for doubtful debts on debtors and
depreciation @ 5% is to be charged on Furniture and Building. There are
outstanding wages Rs. 3,000. Insurance has been prepaid to the extent of Rs.
250. Legal expenses are outstanding to the extent of Rs. 700.

You are required to prepare Total Debtors Account, Total Creditors Account,
Total Bills Receivable Account, Total Bills Payable Account, Trading and
Profit and Loss Account for the year ending 31 March, 2013 and Balance
Sheet as on that date. [14]

Q4) From the following Profit and Loss Account and Balance Sheet of a company,
calculate following ratios. [20]

a) Current Ratio.

b) Operating Ratio.

c) Stock Turnover Ratio.
d) Liquid Ratio.

e) Gross Profit Ratio.

f)  Net Profit Ratio
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Profit and Loss Account

for the Year ended 31% March, 2014

Dr. Cr
Particulars Rs Particulars Rs
To Opening Stock 10,00,000 By Sales 90,00,000
To Purchases 60,00,000 | By Closing Stock 12,00,000
To Carriage Inwards 2,00,000
To Gross Profit 30,00,000
1,02,00,000 1,02,00,000
To Administrative 14,00,000 (By Gross Profit b/d 30,00,000
Expenses
To Selling and 2,50,000 [ By Sundry Income 1,00,000
Distribution Expenses
To Non-operating 50,000
Expenses
To Net Profit 14,00,000
31,00,000 31,00,000
Balance Sheet
as on 31% March, 2014.
Liabilities Rs Assets Rs.
Capital 20,00,000 Land and Building 10,00,000
Reserve and Surplus| 17,00,000 Plant and Machinery | 12,00,000
Sundry Creditors 10,00,000 Stock 12,00,000
Provision for 2,00,000 Debtors 12,00,000
Taxation
Bills Payable 3,00,000 Cash at Bank 6,00,000
52,00,000 52,00,000
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OR

Following is the Trial Balance of Sai Farm House as on 31.03.2014. [20]
Trial Balance ason 31.03.2014

Particulars Debit (Rs.) Credit (Rs.)
Capital - 1,57,500
Land and Building at Cost 1,12,500 -
Opening Stocks:
Growing Crops, wheat 7,500 -
Live-stock: sheep 15,000 -
Feed for Live-stock 1,500 -
Farm Machinery (Original Cost Rs 30,000) 13,500 -
Salary and Wages: Manager 4500 -
Salary and Wages: Farm Workers 6,000 -
Farm House Expenses 2,250 -
Staff Meals 3,600 -
Crop Expenses 4,500 -
Purchases- Live-stock 7,500 -
Maintenance- Live-stock 9,000 -
Repairs- Farm Machinery 600 -
Repairs and Maintenance (Crop) 300 -
Sheep Yard 450 -
Hand Tools and Equipments (01.04.2013) 1,500 -
Office Expenses 2,250 -
Interest 4,500 -
Sale of Live-stock - 28,500
Sale of Wheat - 39,000
Legal Fees 1,500 -
Sundry Debtors 7,500 -
Sundry Creditors - 1,500
Managers Personal Account - 750
Bank Balance 21,300 -
2,27,250 2,27,250
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Additional Information:

a)

b)

d)

The Manager is entitled to a commission of 10% on the profit of Live-
stock section after charging such commission. He is also chargeable
with 1/3 of Farm House Expenses.

Live-stock section is to bear 10% Managers Salary and Staff Meals.

Depreciate Farm Machinery at 10% on original cost

Closing Stocks:

Growing Crops, Wheat Rs. 12,000
Live-stock Rs. 22,500
Feed Rs. 750
Hand tools and equipments Rs. 300

Rs. 3,000 worth of food-stuff grown in the farm was used for the Live-
stock.

Depreciation on Hand Tools and Equipments should be charged to Crop
Account and Live-stock in the ratio of 3:1.

Prepare: (i) Crop Account, (i) Live-stock Account, (iii) General Profit
and Loss Account, (iv) Balance Sheet as on 31.03.2014.

Q00
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Total No. of Questions :5] SEAT No. :

P1126 [Total No. of Pages : 2
[4963]-303
T.Y.B.Com.
ECONOMICS
Indian & Global Economic Development

(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the constraints on Agricultural Development in India. [16]

0Q2) Explain basic characteristics of the Indian Economy as an emerging
economy. [16]

OR
Explain the role of Small Scale Industries in India.

03) a) Explain the role of Human Resource in economic development. [8]
b) Explain the objectives of economic planning in India. [8]
OR

a) State the importance of Foreign Trade in economic development.
b) Explain the convertibility of Rupee on Current Account.

04) Explain the need of foreign capital in economic development. [16]
05) Write short notes on (any two) [16]
a) World Trade Organisation (WTO)
b) Functions of International Monetary Fund (IMF)

c) Private investment in Infrastructure
d) Challenges of Privatisation

Q00O
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ECONOMICS
International Economics

(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Draw diagrams wherever necessary.

Q1) Discuss the Heckscher - Ohlin's theory International Trade. [16]

02) What is terms of trade? Discuss the factors determining terms of trade. [16]

OR
Distinguish between the Domestic trade and International trade. [16]
03) a) State and explain the types of foreign capital. [8]
b) Explain the merits and demerits of fixed. exchange rate. [8]
OR
a) Explain the role of multi National corporations. [8]
b) Explain the current and capital account of Balance of payments. [8]
04) Evaluate the Indias foreign trade policy since 1991. [16]
05) Write short notes (Any two) [16]
a) Protection trade policy
b) SAPTA.

c) Eurodollar market.
d) International labour migration.

Q00O
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[4963] - 305
T.Y.B.Com.
AUDITINGAND TAXATION
(2008 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:
1) All questions are compulsory
2) Figures to the right incidicate full marks.
3) Use of calculator is allowed.

Q1) What is meant by auditing? Explain primary and secondary objects of
auditing. [16]

OR

What is a company auditor? Explain the rights and duties on an auditor.

02) Write short notes on (any four) : [16]
i)  Audit working papers.
i) Tax Audit.
i) Importance of vouching.
iv)  Verification and valuation.
v)  Qualified and clean Audit Report.

vi) Auditing in an EDP Environment.

PTO.



03) Define the following terms. [8]
i)  Short term capital gain
i)  Agricultural Income

iii) Residential status of an Assessee

iv) Tax Refund.

OR

Mr Sanket owned two houses. for the financial year 2015-16 details
relating to the properties are given below. [8]
Particulars House A Rs.| House B Rs.
Fair Rent 3,30000 230000
Municipal valuation 335000 235000
Municipal Tax 4000 5000

Paid Due
Annual Rent 336000 235000
Land Revenue Paid 3000 5000
Ground Rent due 3500 14000
Interest on Capital - 114000
Nature of occupation let out let out

For For
Residencg Business

Date of completion of
Construction May 2010 | April 2012

You are required to compute income from house property for the A.Y.
2016-17. as Tax consultant.
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04) A) Mrs Pallavi is employed in a company at mumbai A and she furnished
the following particulars of income for the financial year 2015 - 16.[16]

i)  Basic salary Rs. 30000 p.m.

i)  Dearness allowance Rs. 12000 pm (Rs 4000 for retirement benefit.)
i) Bonus Rs 40000

iv) Interest on R.P.F. at 13% of Rs 78000

v)  Entertainment allowance Rs 2000 p.m.

vi) Employers contribution to R.P.F. is 15%. of salary.

vii) She is provided with furnished accommodation at mumbai by the
employer. cost of furniture is Rs. 100000. Rent paid for
accommodation by mrs Pallavi is Rs. 4000 p.m.

viii) Hospital bill reimbursed by the employer is Rs. 24000

ix) She has been provided with the facility of sweeper, watchmen and
servent who are paid by the employer Rs 1500 p.m. Rs 1800 p.m.
and Rs. 1700 p.m. respectively.

x)  She has been provided with a 1800 cc. car for both official and
private purpose. Running and maintenance expenses are borne by
the employer.

xi) Gas Electricity and water bills paid by employer Rs. 24000

xil) Professional Tax paid Rs 2500 compute her taxable income from
salary for the A.Y. 2016-17.

[4963] - 305 3



B) The following is the trading, profit & loss Account of Mr. Vijay for the

year ended 31 March 2016. [8]
Particulars Rs Particulars Rs.
To opening stock 15000
To purchases 40000 by sales 80000
To wages 20000 by closing stock 20000
To Rent 6000
To Repairs of car 3000 | by Gift from father 10000
To wealth tax paid 2000 by sale of car 17000
To medical Expenses 3000 by Income Tax 3000
To General Expenses 10000 Refund
To Depreciation 4000
of car
To advance income 1000
Tax
To profit for the year 26000

1,30,000 1,30,000

The following further information is given.

1)  Mr Vijay carries on his business from rented premises half of which
is used as his residence.

ii)  Mr. Vijay bought a car for Rs. 20000. He charged 20% depreciation
on the value of car. The car was sold at the end of the year for
Rs.17000. The use of car 3/4 for the business and 1/4 for personal
purpose.

i) Medical expenses were incurred by Mr vijay for his treatment.

iv)  Wages include Rs. 5000 on account of Mr Vijay driver. Compute
his taxable income from business for the year.
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035) Mr Arun aresident individual has given the following information for the year
ended 31/3/2016. [16]

i)  Net salary per month (after deduction of Income Tax and professional
Tax) Rs. 20000

i) Income tax deducted at source per month Rs. 4000

i) Professional Tax deducted at source per month Rs. 250

iv) Commission fixed per annum Rs. 50000

v)  Bonus per annum Rs. 40000

vi) Education allowance per annum Rs. 8600 (for two sons & one daughter)
vil) Employers contribution to R.P.F. Rs 48920

viil) Free car (1650 CC) facility for official and private purpose, expenses
paid by the employer Rs 27000

ix) Share of profit from firm Rs 36000 and from H.U.F. Rs 30000
x) Income from Business Rs 16000
xi) Hereceived the following.

a) Interest on Bank term deposite Rs 35000

b) Interest on company deposite Rs. 10000

c) Interest on postal saving Bank A/C Rs. 2500

d) Maturity claim of LIC Rs. 65000
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His Savings and Investment are as follows.
a) Contribution to R.P.F Rs 30000
b) Payment of LIC premium Rs 12000

c) Medical insurance premium on the health of dependent father aged 65
years Rs 17000

d) Repayment of higher education loan Rs. 47000

e) Repayment of self occupied housing loan (Including interest of Rs. 28500)
Rs. 58700

f)  Compute his total income and tax liability of Mr Arun for the A.Y. 2016-17

Q00O
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F)  ongfaw g = 12000
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Total No. of Questions :5] SEAT No. :

P1129 [Total No. of Pages : 2
[4963]-306

T.Y. B.Com
BUSINESS ADMINISTRATION - 11

Human Resource Development and Marketing Management (Theory)

(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks alloted to the question.

Q1) Define the term 'Job evaluation'. State importance of job evaluation in

business. [16]
02) What is manpower recruitment? What are the sources of manpower
recruitment?. [16]

OR

a) Define the term marketing. What are the objectives of marketing? [8]
b) What is market segmentation? What are the types of market
segmentation [8]

03) a) What is marketing organisation? Explain the need of marketing

organisation. [8]

b) State importance of marketing mix. [8]
OR

a) Explain ethics in advertising. [8]

b)  What are the new trends in retail marketing? [8]

04) What is channel of distribution ? What are different types of channels of
distribution? [16]

05) Write shorts notes on (Any two) [16]
a) Essential qualities of marketing manager.
b) Future of advertising.
c) Advertising standards council of India.
d) E-Marketing.

Q00O
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Total No. of Questions : 5]

P1129
[4963]-306
T.Y. B.Com
BUSINESS ADMINISTRATION - 11
Human Resource Development and Marketing Management (Theory)
(2008 Pattern)
(W& FUTR)

dez: 3 ara | [T 7Ot 80
AT o~ 1) Gd 997 Qisiant snavas g,
2) ITAIHSIT ek qul quT FINEATA.

gy7l)  HEYEATEHA WU HE A AT HReHRAT Aged &g . [16]
Ty72)  HHAN WA TEUN I A AAE HHAR WA S T . [16]
e

1)  fouum Heeunt woE w1, fouuEh 3R @ 9 o [8]

¥)  aRUS faumiieu rgue @ ? Serus favm e fafaer geer s . [ 8]
gy73) 1) fauum wee o wE e foue deeasht e e w9, [8]

) fuumfas wea T 0. [8]

e

H) R e T % [8]

) foewe fouuArde afem garg o 2 [8]
gy74)  Toaven ARt e wE ? faaumnTe oty g T w6 [16]
w75) R (R 2F) [16]

) TR SEEIRT STEYIh T

q) A Wietdsa

W) IiSceERN Fugs wif e tE sfg

¥) 3 - HwhieN
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Total No. of Questions :5] SEAT No. :

P1130 [Total No. of Pages : 2
[4963]-307

T.Y. B.Com.
BANKING AND FINANCE (Spl.Paper - II)
Financial Markets and Institutions in India

(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the indicators of financial development and the role of financial system
in economic development. [16]

02) Explain the characteristics of Indian Money Market and Institutions working
in the Money Market. [16]

OR
State the structure of Indian Capital Market.

03) a) State the progress of Factoring Company. [8]
b) Explain the working of State Industrial Development Corporations. [8]
OR

a) Explain the working of Housing Finance Companies.
b) State the progress of General Insurance Corporation of India.

04) Explain in detail the working and progress of Life Insurance Corporation of
India. [16]

05) Write notes on Any two [16]
a) Provident fund
b)  Unit Trust of India
c) Industrial Finance Corporation of India
d) State Finance Corporations

Q00O
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Total No. of Questions : 5]

P1130
[4963]-307
T.Y. B.Com.
BANKING AND FINANCE (Spl.Paper - II)
Financial Markets and Institutions in India
(2008 Pattern)
(WS FUTR)
dez: 3 ara | [T 7Ot 80

GeAr :— 1) T 9T STV IR,
2) IS 3k FFTE QUT 0T AT,
3) @gyrardt susi gvTaidesT agrEl.

gy7l) Toxia fommr fdyres wim enfor fafa wonedi= enfde faemmmder gfte we
. [16]

gy72)  WRAE AUETSRE! AT ST ATOIETSIRTG ShiERd HEl Shivfel d ¥08 . [16]

feRan
gy73) A) oT=d SAAER HUATE WA . [8]
) U SiEnf foehTe HEmEwE! HEuLEd T . [8]

feRan

) TEf YIEST ShURITHl RISl T .
q) HRAE TEEIRUT | HeesTe STt |,
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Fg75) & forg. (ST &) [16]
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Total No. of Questions :5] SEAT No. :

P1131 [Total No. of Pages : 3
[4963]-308

T.Y. B.Com.
BUSINESS LAWS AND PRACTICES (Paper - II)
(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) State the nature and scope of The employees State Insurance Act. Explain in
briefly the important provision under Employees State Insurance Act, 1948.[16]

Q2) State the scope of Employees Provident Fund Act. Explain important
provisions regarding Employees Provident Fund as per Employees Provident
Fund Act,1952. [16]

OR

Define wages as per the payment of wages Act. Explain the authorised
deductions from the wages under 'The Payment of Wages Act,1936.  [16]

03) a) Explain the powers & functions of securities and Exchange Board of
India as per securities contract (regulation) Act, 1956. [8]

b) State the composition, duties and powers of the competition commission
of India as per competition Act, 2002. [8]

OR

a) Define 'occupier'. State general duties of occupier of factories as per
'Factories Act', 1948. [8]

b) State the method of the fixation of minimum rate of wages as per ' The
Minimum wages Act', 1948. [8]

04) Explain provisions regarding 'Safety of Workers' as per Factories Act, 1948.[16]

PTO.



05) Write short notes (Any two) [16]

a)

b)

c)
d)

[4963]-308

Composition , working and powers of Medical Benefit Council.
[Employees State Insurance Act, 1948]

Composition of Competion Commission. [Competition Act,2002]
Current & capital account transactions. (FEMA, 1999)

Problem of application of special Economic Zone Act, 2005.

Q00



Total No. of Questions : 5]

P1131

[4963]-308
T.Y. B.Com.

BUSINESS LAWS AND PRACTICES (Paper - II)

(2008 Pattern)
(W& FATHR)

dez: 3 ara | [T Ut 80
ger (- 1)  @d 97 HE9IE SR

2) IwEiBSeT i quf T FEAaT.,
3) d@eylaidt ges Ul gvTaAeET UgTe.

g971)

797 2)

797 3)

g97 4)

97 5)

FHHAN T fo T FEea™ @@Ea 9 ST G, wHa a9 o wEern, 1948
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FHAW Wiastarg Feft 9 3o agdien wrer, 1952 < sard wm. wiastarg fef
mﬁama@aw% [16]
AT SR | A 0T ATl hIeT, 1936 TAR AGHTGH SHEat AU Aferhd
HUTH TIE . [16]

1) et R (Femm) *m@E, 1956 =R urdE T enfor faffma g

(V) AfRR a wIE |, [8]

F) Tt wrEEn, 2002 =3 Tt AT o, AfeER enfun s wim. [ 8]
e

HA) HREFAT AT 91 ITeaT=l SHEA 1. HIEHT e, 1948 37=aa wRE 1

AT TTETERUT Haed TR, [8]

) Torum gaa s, 1948 st foram aan fafvea swevareh uega arm. |8

TG HEEl, 1948 TOR HRETTHE HIRTRIEAT GueiadaTadeat aidal T8
AT [16]

&t forgt. (SioTTdt ) [16]
)  Aeufeha TNy Wi AT, w9 AfEwR [ asa form wrEn, 1948]

q) Tt AR AT (Fe e, 2002)
&) e AUt Higdet Wi SagR. (W, 1999)
g) oo snfeies &= e, 2005 = AHAESTEuh STeaeat SHE 9.
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Total No. of Questions :5] SEAT No. :

P1132 [Total No. of Pages : 2
[4963]-309

T.Y. B.Com.
CO-OPERATION AND RURAL DEVELOPMENT

(Co-operative Management and Administration)

(2008 Pattern) (Paper - II)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Co-operative Management? Explain the nature and objectives of
Co-operative Management. [16]

Q2) Define decision-making. State the steps involved in decision-making

process. [16]
OR
Explain the Organisational Structure of Co-operative Department in
Maharashtra.
03) a) Explain the powers of Registrar of Co-operatives. [8]
b)  Write a note on Human Relationship in Co-operatives. [8]
OR

a) Describe the characteristics of financial planning.
b) State the objectives of Co-operative Audit.

04) What do you mean by Financial Management of Co-operatives? Explain the
nature and importance of Financial Management of Co-operatives. [16]

05) Answer the following questions (Any Two) [16]
a)  Write a note on Internal Audit and Annual Audit of Co-operatives.
b) Write a note on Investment policy of Co-operative Institution.
c) Explain the various sources of finance to Co-operatives.
d) Explain the Need of Financial Control in Co-operatives.

Q00O
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Total No. of Questions : 5]

P1132
[4963]-309
T.Y.B.Com.
CO-OPERATION AND RURAL DEVELOPMENT
(Co-operative Management and Administration)
(2008 Pattern) (Paper - II)
(W& FATHR)

dez: 3 ara | [Tzor 7oT . 80
geAr :~ 1) G 597 @ISl Savad Jig.
2) STHIHSIT 3k quf 0T FIAAA.
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. [16]
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(Steps) srdura gt o TR, [16]
fehan
HERIYT Tl [IHATI HeeATHe ey T .
gv73) ) TEER-FEUET AfUER T w0 [8]
q)  HEHRWHA T Hay AR u forr. 8]
fehan

H) fafta-Fesmsh atvms e .
q) EEHN TGl YRS I AR,

T974)  HEwW fafa saeeeuETen S A, Wil it SaaeIeTel ey ST HEe
T . [16]
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Total No. of Questions : 5] SEAT No. :

P1133 [Total No. of Pages : 5

[4963]-310
T.Y. B.Com.
COST AND WORKS ACCOUNTING (Paper-1I)
Overheads and Methods of Costing
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Use of calculator is allowed.

Q1) a) State whether the following statements are true or false. [5]
i)  All overheads are the cost, but all cost are not the overheads.
ii)  Office overheads are controllable at lower level of management.

iii) Lubricants are the indirect Materials which can be ascertained from
store requisitions.

iv) In Job costing system, a separate job cost sheet is prepared for
each year.

v) In contract costing each contract is treated as a separate cost unit.

b) Fillinthe blanks: [5]
i)  Variable overheads in total as production goes up.
i) Normal bad debts is an example of overheads.

iii) Cost plus contracts are undertaken for production of
product.

iv) Inpharmaceutical formulation industry, generally costing
method is used.

v) Joint products aquired simultaneously in process.

PT.O.



02) What is Activity Based Costing? State the important stages in activity based

costing? [15]
OR
Describe the essential features of job costing system and state where it can be
usefully implemented.
03) Write short notes on (any three) : [15]
a) Joint products and By products
b) Under absorption and overabsorption
c) Retention money
d) Features of service costing
e) Batch costing
04) a) Lux Ltd. Nasik, has three Production Depts. viz. P, Q and R and two

Service depts. 'S' and '"T". The primary distribution summary of March
2014 gives the following details.

Production Depts

P - %8,000

Q - T7,000

R - %8,000
Service Depts.

S - %5000

T - 2,000

The Service Depts. cost of 'S' and "T" Depts. are to be charged on the
basis of following percentages.

Particulars P Q R S T

Service Dept. 'S' 20% [40% | 30% | - 10%

Service Dept. "T' 40% |20% | 30% | 10% | -

You are required to find out the total production overheads under
Repeated Distribution Method and Simultaneous Equation Method.[15]

[4963]-310 2



b)

05) a)

Work out in a suitable form the machine hour rate of a saw mill with
reference to the following items of information extracted from the books
of the company: [S]

i)  Purchase price of saw mill - ¥ 90,000

i) Installation charges -3 10,000

i) Life of the saw mill - 10 years at 2000 working hours per year.
iv) Repairs charges - 50% of the depreciation

v) Lubricating oil at % 2 per day of 8 hours.

vi) Consumable stores at % 10 per day of 8 hours.

vii) Direct wages of the operator at T 4 per day of 8 hours.

viii) Consumption of electric power - 10 units per hour at 7 paise per
unit.

The product of a manufacturing concern passes through two processes
'A"and 'B' and then to finished stock. It is ascertained that in each process
normally 5% of the total weight is lost and 10% is scrap which from
process 'A' and 'B' realises ¥ 80 per ton and ¥ 200 per ton respectively.
The following are the figures relating to both the process.

Particulars Process 'A' |Process 'B'
Materials Tons 1000 70
Cost of material perton | X 125 200
Wages 3 28,000 10,000
Manufacturing Expenses| 8,000 5,250
Output Tons 830 780

Prepare Process Cost Accounts showing cost per ton of each process.

There was no stock or work in progress in any process.

[4963]-310




b) Kumar Builders, Pune undertook several large contracts. The following are
the particulars relating to contract No. 25 for the year ended 31 - 3 - 2014

Particulars 3

Material issued from storehouse 90,000
Material purchased 40,000
Material transferred from contract No. 20 25,000
Material returned to storehouse 500
Material at site on 31-3-2014 1,000
Plant purchased and installed at site 72,000
Freight and installation charges of plant 8,000
Operating wages 1,22,000
Process labour outstanding 5,000
Other direct expenses 12,000
Operating expenses payable 2,000
Establishment on cost 27,000
Office expenses accrued 1,500
Work uncertified 6,000
Contract price 16,00,000
Cash received from contractee 3,20,000

(Represented the full amount of work certified less 20% as retention
money)

Provide depreciation on plant at 10% p.a as per reducing balance method.
You are required to prepare Contract Account. [10]

OR

[4963]-310 4



Mr Ajay runs a tempo service in the town. He furnishes you the following data
and wants you to compute the cost per running k.m.

Particulars 3
Cost of vehicle 50,000
Road Licence fee per year 750
Supervision and salary (Yearly) 1,800
Driver's wages per hour 4
Cost of fuel per litre 4
Repairs and maintenance per k.m 1
Tyre cost per k.m 1
Garage rent per year 1,600
Insurance premium yearly 850
Kms. Run per Ltr 12
Kms. Run During the year 24,000
Estimated Life of vehicles 1,60,000 kms

Charge interest at 10% p.a on the cost of vehicle. The vehicles run 30 kms per
hour on an average.

Q00
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Total No. of Questions : 5]

SEAT No. :

P1134 [Total No. of Pages : 5

[4963]-311

T.Y. B.Com

STATISTICS (Paper-1I)
Business Statistics
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Use of calculator and statistical tables is allowed.

Q1) A) Attempt any four of the following: [2 each]
a) Findnif nC_,=95
b) Define binomial distribution.
c) LetX~B<n,p). if E(x) = 8 and var (x) = 4 find n and p.
d) Give any two real life situations where poisson distribution can be
used.
e) Define the term Inventory control.
f) IfP(A)=0.4,P(B)=0.3, P(B/A)=0.3 find P (AUB).
B) Attempt any two of the following;: [6 each]
a) Explain
i)  Independence of two discrete random variables
ii)  Probability of an event
i) Sample space
b) Number of road accidents on a highway during a month follows a

poisson distribution with mean 5. Find the probability that in a certain
month, number of accidents on the highway will be

i)  lessthan3
ii) exactly one

iii) more than 3.

PT.O.



c) Adiscrete random variable x has the following probability distribution:
X : 0 1 2 3 4 5
P(X=x): 0.050.15 0.2 0.5 0.09 0.01

Find 1) P(Xg 3) .
ii) Mean of x.

ii1) Variance of x.

02) Attempt any two of the following;:
A) A dealer supplies the following information with respect to a product.

Annual Demand : 400 units
Ordering cost : Rs.10 per order
Inventory carrying cost : 20%
Back order cost : 20%
Price per unit  : Rs.20
Determine
i)  optimal order quantity
i)  optimal back order quantity

iii) optimal number of orders

iv) total cost [8]
B) Following is the joint probability distribution of (X,Y)
Y| 1 2 3 4
X
o |1 111
24 12 12 24
1 1111
24 6 6 12
S N S
24 12 12 24
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Obtain

G

i)  marginal probability distribution of X

i) conditional probability distribution of X given Y =2
iii) P(X §1|Y=1)

iv) probability distribution of X+Y [8]

If the probability that any person, 65 years old, will be dead within
a year is 0.05. Find the probability that out of a group of 7 persons

a) exactly one [4]
b) atleast one will die within a year.

The probability that a contractor will get a plumbing contract is 0.4
and the probability that he will not get an electric contract is 0.7. If
the probability of getting at least one contract is 0.6, what is the
probability that he will get. [4]

a) both the contracts?

b) exactly one contract?

03) Attempt any two of the following:

A) i)
ii)
B) i)
ii)

[4963]-311

In a population of size 6, the values are 1,2,3,4,5 and 9. Draw all
possible SRSWOR of size 2. Verify that sample mean is unbiased
estimator of population mean. [4]

Explain the procedure of stratified sampling with one illustration.[4]

A sample of 100 battery cells tested to find the length of life produced
the following results: [6]

Mean =12 hours, Standard Deviation = 3 hours

Assuming the data to be normally distributed, what percentage of
battery cells are expected to have life

a) more than 15 hours?
b) less than 6 hours?
c) between 10 and 14 hours?

State any two properties of normal distribution. [2]



C) 1) In a locality 100 persons were randomly selected and asked for
their educational achievements. The results are given as follows:

Sex Education

Prima High School College
School |2 8
Male 10 15 25

Female 25 10 15

Test whether education depends on sex at 1% level of significance.[6]

ii)  Define standard error of a statistic. [2]

04) Attempt any two of the following:
A) Fill in the blanks of the following ANOVA

Table marked "-".

Source Degrees Sum of | Mean Sum | Variance
of variation of freedom | squares | of square | Ratio
Between salesman 3 39 - -
Between Months 2 90 - -

Error 6 30 -

Total 11 209

Also test at 5% level of significance,
i)  Whether the sales made by different salesman differ significantly?
i)  Whether the sales made during different months differ significantly?[8]

B) 1) Inarandom sample of 800 persons from rural area 200 found to be
smokers. In a sample of 1000 persons from urban area 350 found
to be smokers. Test whether proportion of smokers is same for

both population. Use 5% level of significance. (4]
ii)  State additive property of normal distribution. [2]
ii) Give two real life situations of binomial distribution. [2]

[4963]-311 4



)

Two random samples drawn from two normal populations are given
below:

Sample 1 : 26 16 20 22 23 27 19 18 24
Sample 1I : 22 24 28 31 33 20 22 17 23

Test whether the two populations have same variance at 10% level of
significance. [8]

05) Attempt any two of the following: [12]

A)

B)

)

A certain stimulus is administered to each of 12 patients resulted in the
following increase in blood pressure.

5,2,8,-1,3,0,-2,1,5,0,4 and 6.

Can it be concluded that the administration of the stimulus in general will
be accompained by increase in the blood pressure? Use 5% level of
significance.

In a distribution exactly normal, 7% of the items are under 35 and 89%
are under 63. Find mean and variance of the distribution.

A population is divided into 3 strata consisting of N. (i=1,2,3) individuals.
From each stratum sample is drawn and the observations are given below:

Stratum N. n. ValueofY,
1 30 4 5,10,12,15
2 40 3 18,12,27
3 60 6 30,45,27,33,15,24

i)  Estimate population stratum means
i)  Estimate population mean

iii) Estimate population total

Q00
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Total No. of Questions :5] SEAT No. :

P1135 [Total No. of Pages : 2
[4963]-312

T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP

(2008 Pattern) (Paper - II)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) What is Preliminary Project Report? Explain the importance & various
components of PPR. [16]

02) Explain in detail the role of District Industrial Center (DIC) and Khadi &
Village Industries Board (KVIB) in the development of small enterprise. [16]

OR

What is 'Business plan'? Explain the importance & Guideline to prepare a
Business plan.

03) a) Write a detail note on objectives & working of MITCON. [8]
b) Explain in detail the working of MIDC. [8]
OR

a) Explain the meaning & causes of Industrial Sickness.
b) Describe the success story of Cyrus Driver, Calorie.

04) Explain in detail the various Business Crisis. [16]
05) Write short notes on (Any two) [16]
a) Critical path method
b) Personnel Management

c) Business Networking
d) Creativity and Innovation

Q00O
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Total No. of Questions : 5]

P1135
[4963]-312
T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2008 Pattern) (Paper - II)
(W& FUTR)
dez: 3 ara | [T Ut 80
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Total No. of Questions :5] SEAT No. :

P1136 [Total No. of Pages : 2
[4963]-313

T.Y. B.Com.
MARKETING MANAGEMENT (Paper - II)
Marketing & Publicity

(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Marketing Management? Explain in detail the skills and Qualities of
Marketing Manager. [16]

02) Define Market Segmentation. Explain the Criteria and Approaches of
Segmenting the Market. [16]

OR
What is Consumer Behaviour? Explain the various steps in Buying Process.

03) a) Explain the concept of Customer Relationship Management and Customer
Satisfaction. [8]

b) Explain the Significance of Retailing. [8]
OR

a)  Write a short note on International Marketing Planning.

b) Explain Recent Trends in Retail Marketing.

04) What is Industrial Marketing? Explain Industrial Marketing and Industrial
Marketing strategy in Globalised Economy. [16]

05) Write short notes on (Any two) [16]
a) Characteristics of Retailing.
b) Functions of Marketing Manager.
c) Retaining Customers.
d) International Marketing.

Q00O
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Total No. of Questions : 5]

P1136

[4963]-313
T.Y. B.Com.
ferqur =gz (Paper - 10)
Marketing & Publicity
(2008 Pattern)
(W& FUTR)

dez 3 ara | [T 7Ot 80
TeAr :— 1) @ Ty QIS0 Savasd o,

2) SISl Sk TYUT U7 FIHAAT.
3) deylaidt qes U gvTaAeET UETe.

g7 1)

g972)

797 3)

g97 4)

797 5)

formuT e TR S ? fauue SraTeRTE ShivTed 3 UT Aok T8 . [ 16]

ToUs faunfeRtomeit sarem @, awus vl e @ snemyg gew

T . [16]
feRan

Mgk a4 U i ? TR Tshidier e g s+,

HA) UTEH G SHAEATYA AT Trgsheame= — ou forarn. [8]

a) e fhm el we w0 [8]

fehan
) st fauum e Ru forar.
q) frenie foaumrde syl TeTg Taee .

il uuE WU S ? ANTdeh U Siieutiies fauve a s
feraurT=R ST T . [16]
an forgt. (v 2F) [16]

) fomeries foshieht afvrea
) fouum sErenuETe wE
F) TR eeha Sl

g) AWy fauum.
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Total No. of Questions : 5] SEAT No. :

P1137 [Total No. of Pages : 4
[4963]-314
T.Y. B.Com.
AGRICULTURALAND INDUSTRIAL ECONOMICS
(2008 Pattern) (Spl. Paper - II)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the sources of agriculture finance. [16]

02) What is agriculture productivity? Explain in detail the causes of low productivity
of agriculture in India. [16]

OR

Evaluate the achievement and failures of Employment Guarantee scheme.

03) a) Discuss institutional land reforms made by govt. after independance.|8]
b) Explain the problems of sugar Industry in India. [8]
OR

a) Evaluate the role of co-operative sector in Industrial development in India.

b) Explain the progress of pharmaceutical Industry in India.

04) Explain the arguments for and against privatisation. [16]

PTO.



05) Write short notes on (any two): [16]
a) Industrial finance corporation of India.
b) Industrial Relations in India.
c) Pattern of ownership of Indian Industry.

d) Problems of Engineering Industry.
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Total No. of Questions : 5]

P1137

[4963]-314
T.Y. B.Com.

AGRICULTURALAND INDUSTRIALECONOMICS

(2008 Pattern) (Spl. Paper - II)
(TEt TUTER)

g :3 @ | [ v 797 £ 80

qHAT -

1) @d gv7 @isfav smasas aig.
2) 3wAiHSicT i QUi YUT FIIAAra.
3) @gufars? gz 7wt gvIafaeT ugrEl.

et o yRareaTe Wt T w5 [16]

JIet IeATGehdT TZUTS hTd ? WRATA T Il ScaTqehdl ShHl STHUATET ShUT W&
Y . [16]

fepam
AR gH AT IIT ATV AU YeTHTI— .

) TATANTR HRIGBTd TR heled HEATeH Jel GURATH o<t . [8]

¥) WRATAA AT’ ISR THET T . [8]
fepam
HA) WRATAA AGANh ORI Hgehll garean qiHeh JoaaTa=
.

) HRATHA 3wy Rt SgamTe Wit g .



97 4) @R SR it g e giharg wE w1 [16]

go7 5) dresEr feat ferer (SorEt §) [16]
) R st fom waet wEmEe
¥) WRATAA i Jae
%) HRATATA IGARTET ATl ATHATEL
¥) onfimifaeRt Sewrean T
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Total No. of Questions : 4] SEAT No. :

P1138 [Total No. of Pages : 4
[4963]-315

T.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

(Defence Production and Management in India)

(2008 Pattern) (Paper -1I)
Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each. (any ten) [20]
i)  State the meaning of Defence Economics.
i)  Define Industrial policy Resolution.
i) Define Strategic control.
iv)  What do you mean by Public Good?
v)  Define economic warfare.
vi) Define war potential.
vil) What do you mean by peacetime economy?
viii) What do you mean by DPSU?
ix) Define Logistics.
x)  What is Threat perception?
xi) State the meaning of mobilization of resources.
xil) What are the methods of War Finance?

xiii) Write any two merits of peace time economy?

PTO.



02) Answer in 50 words each. (any two) [10]
i)  Explain the concept of rationing.
i)  Describe Industrial policy resolution of India.

iii) Describe structure and functions of Ministry of Defence.

03) Answer in 150 words each. (any two) [20]
i)  Explain importance economic warfare.
i)  Analyses India’s Defence spending from 1990 to present day.

i) Describe limitations of logistics management.

04) Answer in 300 words each. (any two) [30]
i)  Evaluate role of Private sector in India’s Defence production.
i)  Explain salient features of decision making process in Indian armed forces.

i) Discuss effects of war on society.
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Total No. of Questions : 4]

P1138
[4963]-315
T.Y. B. Com.
fTr ST wIEATE ofve HASTHwe
HRATATA EIST0T IcaTed SITUT saa€ATa=
(2008 Pattern) (Paper -1I)
(Tt ®UTR)
g :3 ad | [ TsoT 7797 - 80

gaar : 1) @d gv7 @islav sravas 30Tz,
2) 3walksieT e U FVIFard.

g7 1) T 20 IegTa IW AT (HIVTAE! <2T) [20]
i) TReruTa stefvmer eref forar.
i) 3R SRUTTETaaT S SATEAT <.
iil) AR e smE g
iv) UsHih TS TEUTS 1 ?
v) onidieR g deddt SaTEAn ool
Vi) FGHAT SaTEAT 1.
vil) ITAATeRTe A STeaael TgU i ?
vii) fe.9t.ua.g. wgue wE?

X)  STRATS HeheUAT FEUNS hTd ?

Xi) ETEFEURIE TiHaT e s ? 3t forgr.

xil) gegten IuURuaTean fafay ugdt st ? g &
Xiii) FTiaATERTERT Tefeaaeos TUHE 31 U7 TE .

_3-



797 2)

797 3)

797 4)

50 yregTa I TAT. (SRIVTAE! GF)

i)  YoTfTe WeheudT TUE .

i) RATEAT ARV AT ATSHITd FUI ol

i) ““EREIUT TATAIT AT G H1E . TSI qUH .

150 vreeTa ST 1. (SRIUTAE )

i) ofieieh Fguegdia HEed TIY &hl.

i) 1990 F AU WRATEAT TRYUT WeTa faryerur .
iil) YIAST SHATYTIATAT WATGTE FUH .

300 vrsema 3w ferer. (SRiumd 99)

[10]

[20]

[30]

) HRATEAT EREUT ITATEATAI WNTIT IeanTeeai Huraeean gt

e .

i) HRATEAT WY BATEATAI (UM TshiaT Uegdie 3e5eh TUTEH T8 .

i) Fgra TR gom fafay aftomm arfaesht =t @,
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Total No. of Questions : 5] SEAT No. :

P1139 [Total No. of Pages : 4
[4963]-316
T.Y.B.Com. (Paper -II)
INSURANCE, TRANSPORT AND TOURISM
(2008 Pattern)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define Life Insurance? Explain the main provisions and features of life
insurance corporation Act, 1956. [16]

02) Enumerate the main provisions and objectives of Insurance Regulatory

Development Act, 1999 (IRDA 1999) [16]
OR
Define General Insurance? State the various conditions of General Insurance
Contract. [16]
03) a)  Write a brief note on Insurance Act, 1938. [8]
b) Describe the role of Insurance Agent in Insurance Business [8]
OR
a)  Write a brief note on saving plans of insurance business. [8]
b) Enumerate the accidental benefits of general insurance contract. [8]

4) Describe the comparative study of private insurance companies versus
p y p p
government controlled Insurance companies. [16]

PTO.



05) Answer the following questions in brief (any two):

a)
b)
c)
d)

Write a note on Installment Revival scheme of general insurance.

Write a note on Surrender of Policies.
State the methods of payment of general Insurance.

Write a note on Assignment.
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Total No. of Questions : 5]

P1139
[4963]-316
T.Y.B.Com. (Paper -1I)
INSURANCE TRANSPORT AND TOURISM
(2008 Pattern)
(T EUTR)
g :3 @ | [ v 797 £ 80

gaar : 1) &@d 97 @slav savas g,
2) 3wAiHSicT i QUi YUT FIIAAra.

gy7 1) SgfdaTe savEE 9 ? 1956 w6 AgHT Ugriee shiEca el YW aide!
2ATIUT IEIT TUY AT [16]

gg7 2) 1999 =z fam Frawareres enfur o wmacemean wa@ aXaqgt onfur sfessr
Terorg . [16]

TRt

Ta AT ferreht st |nm ? e et fom s fafae s awm. [16]

gg73) 1) 1938 = fomn wrrer arer feu ferer. [8]
=) T s o ueiet (ufafAefieft) sraereh gite fore w.[8]
TR
) f;; SAHTTAA =od aeHT (Saving Plans) Imer oigerma fou
~ [8]

) Td HIUROT foAT FRTter STt wiEe (Accidental Benefits) farste
. [8]



gv7 4) w@Ei fow s enfur st fafa fom suen @ geTers stve

Terorg . [16]
97 5) WTeiter TeAT= ArgeTa S el (ShivTdgt aF) [16]
1) o wnamt famrdie “gn gaes aEn (Installment Revival Scheme)

rer fou feran.

¥) uieneie @ed (Surrender of Policies) amer feu ferar.
&) |d warer Tt 99 qua Hedtdiel uegdl |,
) YEER 9T (Assignment) arer fea fergr.
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Total No. of Questions : 5] SEAT No. :

P1140 [Total No. of Pages : 2
[4963]-317
T.Y. B.Com (Paper - II)
COMPUTERAPPLICATION
RDBMS, Networking, Internet and E-Commerce
(2008 Pattern)
Time : 3 Hours] [Maximum Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Neat diagrams must be drawn wherever necessary.

Q1) a) Consider the following table and solve the following queries (anyfour) :
Book (Bno, Bname, Author, Price) [8]

i)  List all the books written by Author “Mr. Kamble”

ii)  List all the books whose name start with ‘A’

i) List all the books having price greater than Rs.500

iv) Delete record of Book whose number is ISBN 120.

v) List all book records according to ascending order of book name.

b) Explain the following commands with their proper syntax and example.

(Any Four) [8]
i)  Alter Table
i) Insert
i) Update
iv) Delete
v) Grant
02) Attempt any four of the following;: [16]

a)  What are the limitations of File Processing System?
b) Explain different data types used in SQL.

c) Whatis Internet? Explain its different services.

d) Explain Electronic Payment System.

e) Explain Computer Network with its goal?

PTO.



03) Attempt any four of the following:

a)
b)
c)
d)
e)

What is attribute? Explain different types of attributes.
Explain different types of payment system.

What is hyperlink? Explain types of hyperlink.

Write a note on LAN?

What is Search Engine? Explain its types.

04) Attempt any four of the following:

a)
b)
c)
d)
e)

Explain the structure of HTML document?

What are different categories of E-Commerce?

What are the uses of Entrance and Exit page in Web?
Explain different users of DBMS.

Write a note on Function used in PL/SQL.

05) Attempt any four of the following;:

a)
b)

c)

d)

Explain Different stages of Secure Electronic Transactions.

Write a note on Web Development Process Model.

Write a note on

i)  Web Space

i) Domain Name

What are the drawbacks of un-normalized database design

Write a HTML code to display the following information

Summary
Class Strength
F.Y.B.Com 200
S.Y.B.Com 150
T.Y.B.Com 30
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Total No. of Questions : 6] SEAT No. :

P1141 [Total No. of Pages : 4
[4963]-318
T.Y. B. Com. (Paper -111)
BUSINESS ADMINISTRATION
Finance, Production & Operations Functions
(2008 Pattern)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Whatis financial planning? Explain the importance. Advantages and limitations
of financial planning. [14]

02) What is meant by under capitalisation? Explain the effects & remedies of

under capitalisation. [14]
OR
Explain the advantages & dis-advantages of public deposits. [14]
03) a) Explain the factors governing fixed capital. [7]
b) Explain the objectives of financial management. [7]
OR
a) Explain the responsibilities of production manager. [7]
b) Explain the principles of material handling. [7]
04) Explain the different types of manufacturing system. [14]

PTO.



05) Write short notes on. (any two) [14]
a) E.O.Q. concept.
b) Importance of supply chain management.
c) Advantages of product lay-out.
d) Bombay Stock Exchange.

06) Need and effects of foreign direct investment in Indian Retail sector. Discuss.
[10]
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Total No. of Questions : 6]

P1141
[4963]-318
T.Y. B. Com. (Paper -III)
SYJqETIH I91HA
o, 3carea srfur ufshat v e
(2008 W)
(FEt TUTER)
g :3 @ | [ v 797 £ 80
geaT : 1) @d ToT oTavaeds IHTEA.

2) 3waiHSicT i Qul YUT FIIAAra.
3) @gufars? gz 7wt gvIafaeT ugrEl.

go7 1) Toca FEm o s ? e e vga, s 9 de w0, [14]

Ty7 2) I3 WISTEhuT TgUS Shidl ? g HISTo [ShIUTTl UIRUTH & 3UTT ¥ 1. [14]

e
T defte wrEg a W TE w1 [14]
g7 3) ) TeR vigae ffvea wom ges Tz . [7]
7) ot saamuATR sfew e =, [7]
TeRan
)  ITUTEH STTEATIHRTEAT TATTET=AT TIY Hhl. [7]
¥) AT ATl qcd TUE . [7]
gy7 4) Scareq ufshan ueude fafay uer e wua. [14]



Ty7 5) odrswETa St ot (SioTeETEt §9) [14]
)  3.371.9g. Hheu.
q) YIEO! WG SHEETIATe HEe.
W) IS HIESE BES

g) HEE | IR

T97 6) WRATAIA Tehiehles SATUR &=Td © Weaer faesht Jaauehret W 9 afoma’ ==t
. [10]
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Total No. of Questions : 6] SEAT No. :

P1142 [Total No. of Pages : 4
[4963]-319
T.Y. B.Com.
BANKING & FINANCE (Special Paper -11I)
Banking Law and Practice in India
(2008 Pattern)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Bank. Explain the relationship between banker and customer.  [14]

02) Explain the provisions of Banking Regulation Act,1949. [14]
OR

Explain in detail the legal and non-legal measures for recovery of bank loans.[14]

03) a) Explain the recovery of money paid by mistake. [7]
b) Explain types of mortgage. [7]
OR
a) State the parties of Negotiable instruments. [7]
b) Explain the duties of collecting banker. [7]

04) Whatis Negotiable Instrument? Explain in detail types of Negotiable instrument.
[14]

PTO.



05) Write short notes on. (any two)

a)
b)
c)
d)

Operational aspect of the project appraisal.
Rights of Paying banker.
Bankers lien.

Precaution to be taken by the banker while giving loans.

06) Explain the importance of project appraisal.
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Total No. of Questions : 6]

P1142

g :3 @ |
qAT »

[4963]-319
T.Y. B.Com.
BANKING & FINANCE (Special Paper -111)

Banking Law and Practice in India
(2008 Pattern)

(TSt ®UTaR)

1) &F o7 sravsaes ogd.
2) gwdissier 3@ gul qur FYifaard.
3) a@gufare? gz suwt gvIafaeT ugTEl.

[ Tz 777 : 80

97 1)

797 2)

797 3)

g97 4)

SR STEAT AR sk TN UTgeh ATATAA Hael TI .

1949 <o S Faw" wEEATde adar TIE H.
feran

FeTage e HEeYR T forR wraeyiiv SurEE-T wfoer g .

H) TSRGHM TG heredl G age T .
F) TR fafay TER T &L
TeRam
) TAATEYH TEAUSSATA IS del .
) Tl Thdl Hhasd TIY .

[14]

[14]

[14]

[7]
[7]

[7]
[7]

TATETT TEAVAS FEUTS hTd ? TETETH SEaUasTTa fafarer TehR |ieeat T8 .

[14]



797 5)  oirswam A fegr (v §e)
) Uehed YeIHTIATHT SHTagTNeh ST]
o) TS SR gRh
W) SOl YRUTTIHR
T) SR ot AT qATIATH grar

97 6) Uhed HeIHTIAT HEged TIE &,
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Total No. of Questions : 6] SEAT No. :

P1143 [Total No. of Pages : 4

[4963]-320
T.Y. B. Com.
BUSINESS LAWS AND PRACTICES
(2008 Pattern) ( Special Paper -11I)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:

1)  Figures to the right indicate full marks.

2)  Use of calculator is allowed.

3) All questions are compulsory.

Q1) Explain the meaning and objectives of Taxes. Explain the meaning, merits and
demerits of direct and indirect taxes. [14]

02) Explain the meaning of excise duty with various types of excise duties. [14]
OR
Explain the following terms.
a) Concept of VAT
b) Types of Assessment of service Tax
c) Manufacturer

03) a) Find assessable value and duty payable. The product is not covered
under section. 4A.
Maximum Retail Trade Price Rs. 1,100 Per unit. State Vat octroi and
other local taxes: 10% of net price cash discount:2%, Trade discount:
8%. Primary and secondary packing cost included in the above MRP
Rs. 100. Excise duty rate 8% ad-valorem plus education cesses as

applicable. [7]
b) Determine the transaction value and excise duty payable from the
following information: [7]

Total invoice Price Rs. 1,44,000
The invoice price include the following:

State Vat Rs.8000

Octroi  Rs.1600
Insurance from factory to depot Rs. 800 freight from factory to depot
Rs. 5,600 rate of basic excise duty 14% ad-valorem rate of education
cesses as applicable.

PTO.



a)

b)

OR
What is custom duty? Enumerate the brief history and objectives of
custom duty. (7]
Explain the procedure relating to clearance of imported goods. (7]

Q4) Mrs. Taramati a registered dealer purchased 22000 kgs of output on which
VAT paid at 3% was Rs. 6000. She manufactured 20,000 kgs of finished
product from the inputs the process loss was 2000 kgs. [14]
The final product was sold at uniform price of Rs. 20 per kg as follows:

a) Goods sold within state - 8000 kgs.

b) Goods sold in Inter-state sale against ¢ form - 5000 kgs.

c) Goods sent on stock transfer to consignment agent outside the state -
4000 kgs.

d) Goods sold to government department outside the state -3000 kg.
There was no opening or closing stock of inputs. WIP or finished
product. The state VAT rate on finihsed product is 12.5% calculate liability
of VAT, if 4000 kgs were exported (and not stock transfer). What will be
tax liability?

05) Write short notes on. (any two) [14]

a) Objectives of customs duty Act.

b) Distinction between sales Tax and Vat.

c) Basic of Assessable Value.

d) Salient features of levy of service tax.

06) Explain the provisions of payments of service tax and returns. [10]
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Total No. of Questions : 6]

P1143
[4963]-320
T.Y. B. Com.
BUSINESS LAWS AND PRACTICES
(2008 Pattern) ( Special Paper -11I)
(T3t TUTaR)
g :3 ad | [ TsoT 7797 - 80

gaar ;1) &@d 797 sfAard smEa.
2) IwFIESIeT Id Qul JUT FoIaAra.
3) @FeEFgeer aravar aFe.
4) @zuraet gz T« gvaufasr ggral.
g7 1) ‘W TEUN W A A HOA IGEV TIE FA. T@H WA ATAR W
TEUS T AR W@ WA ST die T8 . [14]

Ty72) ‘ScaTed Yeeh TEUNS o AR ScUTeH Y[eehTel T Teh T ohal. [14]
R
WA HeheudT T 0.
) Hegatda st (VAT) Eeheddt
) T FATHRUA THR
EISICIGED

g7 3) @) R YR Goar ST ST Yok hIET. IeaTeA herw 4 (37) Sfavia
AT ATE.
AT TRt fhma 1,100 & Tciht; UeT Geaaidd e o
Sehta 10% (FRae frmdi=an) ; @ seer (Cash Discount) 2%
=TIt FeeT (Trade Discount) 8% ; Smertaer emtfur fgeftass ameoft
T (g fhadia wmfae) 100 . Ieutea 3ok &X 8% (TieTamer)

arferer Rrerforer arfam. [7]
q) el Al T SIEER Jod SATIUT F IedTeH Yok ffvera . [7]

LEURESCR ] 1,44000 &.

HisTeh TeRmdta @Tefier aTet ofasd ATed.

TS qeaatda 8000 ®.

STehTd 1600 &.



97 4)

797 5)

797 6)

HRETEIE WIS gt fom 800. &.

HRETAUET HEH gdaa 9. 5,600 &.

IeATE YEhTET JAIHd & 14% (YEamer Temia) F et freron
IUS AR ATEA.

fhan

) HETYeE TEUTS hT ? HHTIeT G STagTe SATIUT 3549 TUE .

[7]

F)  ATETa HeledT WTATH Jordar o an iskaa foeem ww. [7]

Sfimel ATt T AigUitha AU YA AT STHedn Seargararest 22,000
ToreTrm s HTET=t TWRET herdt Y. TR 3% g 6000 & Heaarda o
WAAT ATE. & ArearEa @t 20,000 ferenrren feshiei arema scarea
ool 3. 3euTied AT sAfaarr 2000 frerrimen Uik drer siere
3TE.

Scafed HTer 20 T3 Ut fehetinrm yamor skt Sherer orm e forsht yeterommor
heTelt ATE.

H) TeATETa AT fasht - 8000 fererrim
q) H-HHATEAR AT ATt ekt - 5000 feretrra.
&)  TeaTETel Juafafasien areeeen qrer - 4000 feretrm.
T) SHTETE SR ATt fasht - 3000 feretrim

AT AR TUT 31ER ATer FoTger AT, 8= ufshaa areter arfor
TIR STAAT AT WA ATE. SeaTied HIeTeR Ted Yeaaida et &2 12.5%.
T AT eaT STUN Yeaated o shial s Arerdeht 4000 ferenmm arers
Tata heret omg. (RTges areTge ot et ATE)
LT AT AT ATUR At TR I ShicadT hial. [14]

ofrgerTa diat forgt. (SRt gi) [14]
3T) ThTA J[ooh hEaCAT 3feg

=) fashem enfor qraafia & e v,

®) YR gearrst geraed (Basic of Assessable Value)

B) TIeEr |aT . oA ST

ot wRuETeAn aeqgl (Payment provisions) 31Tfur dameRt ¢ faawor u=
(Return) ¥RUATEAT AXE! TAE . [10]
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Total No. of Questions : 6] SEAT No. :

P1144 [Total No. of Pages : 4
[4963]-321
T.Y.B. Com.
CO-OPERATIONAND RURALDEVELOPMENT

(Co-operative Marketing Management)
(2008 Pattern) (Paper -III)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Co-operative Marketing? Explain the different Types of Co-operative
Marketing. [14]

02) Define Marketing? Explain the Scope and Elements of Marketing. [14]
OR

What is meant by Dairy- Co-operatives? Enumerate the advantages of Dairy-
Co-operatives.

03) a) State the structure of State Co-operative Consumer Federation. [7]
b)  Write a brief note on Poultry Co-operatives. [7]
OR

a) Statethe objectives of The Agricultural Produce Marketing (Development
and Regulation) Act. 2003.

b) Write a Note on NAFED (National Agricultural Co-operative Marketing
Federation of India Ltd.)

04) Describe in detail the objectives and functions of Agricultural Produce Market
Committee. [14]

PTO.



035) Answer the following questions. (any two) [14]

a)
b)

c)
d)

State the problems of Agricultural Produce Market Committee.

Explain Marketing Strategy of Co-operatives for Exporting Agricultural
Produce.

Describe the Scope of Marketing Research.

State the Significance of Pricing.

06) Describe the impact of the Agricultural Produce Marketing (Development and
Regulation) Act, 2003 on Agricultural Marketing. [10]
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Total No. of Questions : 6]

P1144
[4963]-321
T.Y.B. Com.
CO-OPERATION AND RURALDEVELOPMENT
(Co-operative Marketing Management)
(2008 Pattern) (Paper -I1I)
(T EUTR)

g :3 @ | [ v 77 £ 80
gaar : 1) @d gv7 @islav sravas 30Tz,

2) gswgiwsicr g qui Jor Feifaar.
vy 1) EEeR FAuUHTE SREET | ? HEeht T steerer fatrer TR T @ [14]
gy7 2) TouumTeh samean @ ? feouEret s enfor gew T @, [14]

feran

TERN FTCATE HEAT TgUTS T ? Hgehil GricaTe Hed™ wiEg faorg &,
T¥7 3) AH) TST GghN UTgeh WU TO€T AT [7]

q) WEHN-Fage Ut TEAT TR g feu forgr. [7]

T
3r) 2003 =T W Ieux AR (Forepma @ FramATes) wragamt sdw
R,

¥) e (NAFED) IR feu forgr. (i wfv sgal fergom @wr).

97 4) HN Seua IR wfEd s@e et i afaer faee w0, [14]



TvT 5) wTeliet oAt I A, (S 3e) [14]
) HiY Ieum SR windiean wwen ar.
F) Hi soaw Fatdiadt smee agenre fauum sgeeeat e w1
&) fagum weneaT=R s fovre w6,
g) Tormder (qeamer) wgea @

97 6) HN FuuEmeRr, 2003 =& Hiv s awR (s o Fauarees) seearn
Tgeren avTa faere =, [10]
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Total No. of Questions : 5] SEAT No. :

P1145 [Total No. of Pages : 3
[4963]-322

T.Y. B. Com
COST AND WORKS ACCOUNTING (Paper - II)

Costing Techniques and Cost Audit

(2008 Pattern)
Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Use of calculator is allowed.

Q1) a) Fillin the blanks (any five) [5]

i)  Excess of sales over variable cost is called

i) Budgets are for action.

iii) Inter firm comparisons become meaningless in the absence of
system.

iv) Cost auditor is appointed by the

V) costing integrate economic objectives and technological
knowledge.

vi) Idle time variance will always be
b) State whether the following statements are true or false (any five). [5]
i)  Fixed costs are directly associated with the production.
i) Budgets are used as a communication tool also
iii) Uniform costing is a separate method of cost ascertainment.
iv) Standards require continuous revision.
v) Target costing was originated in Japan.

vi) Cost audit aims at establishing truth and fairness of financial
statements.

02) What is uniform costing? State its objectives and areas of uniformity is necessary
to achieve. [15]

OR

What is Inter-firm Comparison? State the essential requirements for installation
of a scheme of inter firm comparison.

PTO.



03) Write short notes on (any three).

a) Scope of cost audit.

b) cost audit programme.
c) Rights and Duties of Cost Auditor.
d) Cost Audit Notes.

e) Importance of Target costing.

Q4) a) From the following information find out.

Variable cost.
P/V Ratio.
Break -even sales.

Margin of safety.
Profit when salesare ¥ 5,00,000

Sales required to earn the profit of ¥1,50,000

Fixed Expenses: 90,000
Sales Value Z3,00,000
Profit : 60,000

b) From the following data, calculate:

i)
if)

05) a) From the following information calculate:

[4963]-322

Labour Rate Variance

Labour Efficiency Variance.
Standard rate of wages per hour
Standard Hours

Actual rate of wages per hour

Actual Hours

Material cost variance
Material Price Variance
Material Usage Variance

Material Mix Variance

10

300 Hrs.

T12

200 Hrs.

[15]

[15]

[S]

[10]



Material StandardMix Amt.(¥) ActualMix Amt.(3)
X 100kgs.@Z 40 4,000 |120kgs.@¥37.50 | 4,500
Y 150kgs.@% 50 7,500 180kgs.@T 45 8,100
b) From the following cost data, you are required to calculate: [10]
i)  Material cost variance
i) Material price variance
iii) Material usage variance
iv) Material mix variance
Material Standard Actual
Qty. |Price| Amt. | Qty. | Price | Amt
(units) | () | () funits | () | (R)
A 200 | 40 | 8,000 | 300 | 30 | 9,000
B 300 | 50 |15,000| 300 [ 60 18,000
500 - 123,000] 600 - 127,000
OR
From the following information calculate:
i)  Labour cost variance
i) Labour Rate variance
i) Labour Effeciency variance
iv) Labour Mix variance
Standard Actual
Workers s T Rate Amtount | Hours | Rate | Amtount
) ) ) )
Skilled | 30 10 300 31 10 310
Unskilled| 40 8 320 32 | 8.50 272
Total | 70 620 63 582
1747
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Total No. of Questions : 5] SEAT No. :
P1146

Time : 3 Hours]

[Total No. of Pages : 5
[4963]-323

T.Y. B.Com

BUSINESS STATISTICS (Special) (Paper - ITI)

(2008 Pattern)
[Maximum Marks : 80

Instructions to the candidates:

Attempt all questions.

Figures to the right indicate full marks.

Use of calculator and statistical tables is allowed.

1)
2)
3)

0l) a)

b)

Attempt any four of the following: [2each]
i)  Explain the term 'Optimistic time' in PERT.
ii)  Determine whether there exists a saddle point in the following two
person zero sum game:
Player B
Playera| © 7
¥ -26 4
i) State whether each of the statement given below is true or false.
A) The distribution of service rate follows is Normal distribution
in queuing theory.
B) Control charts are apply on continuous production process.
iv) State any four elements of queuing theory.
vi) State simpson's 1/3"™Rule from numerical integration.
Attempt any two of the following;: [6each]
i)  Describe the following terms:

A) Mixed strategy
B) Optimal strategy

C) Decision under certainty

PTO.



i) A road transport company has one reservation clerk on duty at a
time. He handles information of bus schedules and make
reservations. Customers arrive at a rate of 8 per hour and the clerk
can service 12 customers on an average per hour. Under assumption
of queuing theory, find:

A) Average number of customers waiting for the service of the clerk.
B) Average number of customers in a queue

C) Average waiting time of customer for the service of the clerk.
D) Probability that the reservation clerk is idle.

E) probability that a customer has to wait before he gets service.

iii)  Solve the game with following pay-off matrix by using the principle
of dominance:  p; ayer B

B4

A 1 10

Playgere A A5 5 4 6
Ald -2 0 -5

02) Attempt any two of the following:

a) Evaluate the following:

3
i) J(3x3 — 2X% + 4x - 11) dx [4]
1
if) Jxlog X dx [4]
b) Given the following pay-off matrix: [8]
Strategies States
N, N, N, N,
S, 12 8 3 11
S, 6 14 17 9
S, 15 11 10 12

[4963]-323 2-



Determine the optimal strategy under:

i)  Maximax criteria,

i) Maximin criteria,

i) Laplace criteria,

iv) Hurvitcz criterion with coefficient of optimality (c)=0.8.

c) A costaccountant is asked to set up a system for controlling waste in a
department converting role of paper in sheets. The bounds of waste are
recorded by sheet for a 10 days in three shifts:

Sample No. 1 2 3|4 5 6 7 819|100
Mean 101|117.33| 110 (102 | 78.33| 93.33| 111.67 | 105| 89 | 109
Range 26 24 18 | 26 6 20 19 15112 | 27

8]

Construct control charts for mean and range. Also comment on whether
the process seems to be control.

(n=3, A,=1.023, D,=0, D,=2.575)

03) Attempt any two of the following;:

J

3
a) 1) Evaluate:
1

6 —3
2¢ —3X+2

dx

6
i) Compute: | = J.XZ +1dx
0

th

[S8each]

Using Simpson's ) rule. Divide the interval [0,6] into 6 equal sub-

intervals

b) Confectionary sales items with passed data of demand per week with

frequency is given below:

Demand Per day

0

10

20

30

40

50

Frequency

3

10

7

22

5

3

Consider the following sequence of random numbers:
36, 53,91, 14, 24, 74, 35, 58, 36, 84.

Using the sequence, simulate the demand for next 10 day. Use Monte-

Carlo simulation method.
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c) Fill in the blanks of the following life table which are shown with the

question marks:
Age(x) 1 d | q. |p |L, T |
20 10000 | 2 2| 2| ? ? ?
21 9873 - - -1 - [83269 | ?
04) Attempt any two of the following: [8each]

a) 1)  Explainthe following terms:
A) Assignable causes.
B) Process capability index.

ii)  Distinguish between control chart for variables and attributes. State
the purpose of np-chart.

b) A project has the following activities and other characteristics.

Activity Time Estimates
t t t
o p m
1-2 6 24 6
1-3 6 18 12
1-4 12 30 12
2-5 6 6 6
3-5 12 48 30
4-6 12 42 30
5-6 18 54 30
i)  Draw the project network and calculate the length and variance of
the critical path.

i)  What is the probability that project will be completed within 80
days

c) Thefollowing table gives the activities in a project and other relevant information:
Activity -2 | 1-3 [ 2-5|2-4|3-4|4-5|4-6 |5-6 |6-7
Duration|5 | 9 | 14| 4 | 3 [ 10|12 | 6 |10

Find earliest start, earliest finish, latest start, latest finish, total float, free
float and independent float for each activity. Aslo find critical path.

[4963]-323 4-



05) Attempt any two of the following: [6each]

a) A news paper distributor assigns probabilities to the demand for the
magazine as follows:

Copies Demanded | Probability
10 0.4
20 0.3
30 0.2
40 0.1

A copy of the magazine is sold for Rs. 10 and costs Rs.7. The distributor
can return the unsold copies for Rs.5 each. How many copies should
the distributor buy if his decision is based on EMV criterion.

b) Machine was purchased at Rs. 12,500. The scrap value is only Rs. 500
for all years. Maintenance cost in the first year is Rs. 2000 where as it is
increased by Rs. 300 per year up to 4" year and later on from the 5"
year up to 7" year it increases by Rs. 700 per year. Determine when
machine should be replaced.

2
¢) Evaluate: | = J.XZ —1dx
0

by using trapezoidal rule. Divide the interval [0,2] into 4 equal sub-intervals.

1777
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Total No. of Questions : 6] SEAT No. :

P1147 [Total No. of Pages : 3
[4963]-324
T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2008 Pattern) (Paper -I1I)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Give meaning of the term 'Individual Behaviour'. What are its determinants?[14]

02) Define the term 'Organizational Behaviour'. Explain its Scope. [14]
OR
Distinguish between manager and leader.

03) a) What are the advantages of informal groups in organization? [7]
b) State and explain causes of change. [7]
OR

a)  Write a note on Team V/S Group.
b) Why changes in organization are resisted?

04) Define the term 'Stress'. What are its Sources? [14]
05) Write short notes on (any two) [14]
a) Jobenrichment
b) Theory X

c) Characteristics of group
d) Managing team

06) You are Human Resource Manager of MNC. Your employees are undergoing
stress. How would you guide them to reduce stress at individual level? [10]

1777
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Total No. of Questions : 6]

P1147
[4963]-324
T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2008 Pattern) (Paper -I1I)
(FST EUTaR)
g :3 @ | [ v 797 £ 80

gaar : 1) &@d 97 @slav savas g,
2) 3wAiHSicT i QUi YUT FIIAAra.

go7 1) ‘saferTa g Heheden 379k WA, o SUUIR Uk <hivTd ?

gy7 2) ‘AueATHe®: daq WeheudTt SATEAT 1. T ST TI8 .
e

SHEEATASH ATIUT T ATcTeT Fleh AT .

gg73) H) SFIUTTNG HHeA™ T HIUA o FA.
q)  AGeATE THRON FT TE H.
feant
) ‘wy faweg ayg’ gt v forer.
F) HEeddie ageTHT e w1 heat W ?

g7 4) ‘AmuTAUTE’ HeheUHTi SATEAT W1, AT Ed hIUTd o W,

[14]

[14]

[7]
[7]

[14]



gg7 5) efrseama dian forgr. (shioreatgt 29) [14]

a1) wr guadr (Job Enrichment)
w) fagm ‘&
%) wYgret AT

g) HE™ SHaeud

97 6) T AU HOA A HHIEA STEATIHR AT, oS HHAR qUITRETeA!
ITEA. SATFATA UTABIGR ATOTAUNAT SATEATI el U ATTEA el il
Y AATEYH A ? [10]
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Total No. of Questions : 6] SEAT No. :

P1148 [Total No. of Pages : 2
[4963]-325
T.Y. B. Com.
MARKETING MANAGEMENT
(Advertising Management)

(2008 Pattern) (Paper - I1I)

Time : 3 Hours] [Max.Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Whatis advertising? Explain the merits and limitations of advertising.  [14]

02) What is appeals in advertisement? Explain the Direct and Indirect appeals in
advertising. [14]
OR
What is advertising layout? Explain the elements of advertising layout.

03) a) Explain the social effects of advertising. [7]
b) What are the advantages of brand to customers? [7]
OR

a)  Write a short note on Advertising Message.
b)  Write a short note on Advertising as a Career.

04) Explain in detail the factors which influence the future of advertising.  [14]

05) Write short notes. (any two): [14]
a) Corporate advertising

b) feregrs Branding
c) Advertising in Non-business Areas
d) Audience segmentation

06) Describe the importance of E-Advertising in India. [10]
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Total No. of Questions : 6]

P1148

[4963]-325
T.Y. B. Com.
MARKETING MANAGEMENT

(Advertising Management)
(2008 Pattern) (Paper - III)

(T3t wUTaR)

g :3 ad | [ TsBT 7797 - 80

geaar : 1) @d gv7 @islav sravas 30Tz,
2) g3wdiesier 3@ gul qur FYifaard.
3) @gyiad? gz 7w gvI9AieT GgETal.

yg7 1) TG TEUN i ? WEee OT F wAier fovrg .

[14]

gy7 2) AR SATATgA TgUN hidl ? TRl Teael o {uedel ATargd g

.
feRan
AT TEAT TEUTS T ? S0 Tl Ueeh T8 .
g7 3) A) A SR aiume frere w4,
) foegr™ (Brand) UTERET HIVTd WIS grard.
feRan
) T devr arer v fergr.
q) ‘Aia-uw wRehie qrer v T,

v 4) iEdieat AidsaTeR THTE UTSUIR Uewh Ao FUE .

gy7 5) oreadTa Gt forgr. (St gF)
3T) TEYUTeHS ST
@) faegreRa
%) TR saaETEe fETde et
T) orgaur faumn

g97 6) WRATdA - uged fererg .
7777

-

[14]

[7]
[7]

[14]

[14]
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Total No. of Questions : 6] SEAT No. :

P1149 [Total No. of Pages : 3
[4963]-326
T.Y. B. Com.
AGRICULTURE AND INDUSTRIAL ECONOMICS

(2008 Pattern) ( Spl. Paper -111)
Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Critically examine the role of NABARD in agriculture cridit since 1991. [14]

Q2) Describe the features of rural economy. State the advantages and problems
horticulture in India. [14]
OR
Discuss the growth of dairy co-operatives in India. State the weakness of
dairy co-operatives.

03) a) Explain the burden of agricultural taxation in India. [7]
b) Explain the role of small farmers Development Agency in rural
development. [7]

OR

a) Explain the causes of Industrial imbalance in India.
b) Describe the growth of MNCs in India.

04) Explain in detail the broad features of Industrial Policy 1991. [14]
05) Write short notes on (any two) [14]
a) Problems of SEZ in India
b) Impact of MNCs on Industrial growth in India
c) Public sector Investment in Infrastructure Development

d) Infrastructure and economic development

06) Explain the problems of poultry co-operatives in your area. [10]

17774
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Total No. of Questions : 6]

P1149

[4963]-326
T.Y. B. Com.
AGRICULTURE AND INDUSTRIAL ECONOMICS
(2008 Pattern) ( Spl. Paper -111)
(TSt TUTaR)
g :3 @ | [ v 797 £ 80
geqr ;1) @d 97 @Slav srasae o,

2) 39FikSieT i TYATE QU [UT FVfara.
3) agyfars? gz 7wt gvIafaesT ugTEl.

g7 1) 1991 UmA et UaESATAIA AraTeeat Yithe feeterss wiieror s, [14]

gy7 2) UTOr stefeawdt ST faue . WRATdiel Wes i Wi AUt deeE
| [14]

fepam
HRATA A 18 gl HEAT=an Jaeite ==l i, g gt Heerr=an 3o
.

g7 3) ) WRATAIA Idl Hel HR TIY . [7]
) T faeTETder oy vaend faet weeeh it wE W [7]
e
) WRATAA SATSATeh JETATATH HRUT TP .
q) WRATHIA SgUEa wuvaret gaet fawg &,



g7 4) 1991 = SHteAIfieh RUTE Sobeh ATITRr Afeay TIE .

¥g7 5) edrgema A fergr. (HomE 8F)
) WA dgrean (SEZ) wwen
9)  WRATe Sftetie qeefieder SgugE wHuveren ST
F) Ty girate ReETde ardwts SeTe jav
<) Ty g o st fre

Ty7 6) qEEAT URENTAIA HHeuTeld TgehNl HEATedT THET TIY .

1777
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Total No. of Questions : 4] SEAT No. :

P1150 [Total No. of Pages : 4
[4963]-327
T.Y.B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Budgeting and Financial Management in India

(2008 Pattern) (Paper -III)
Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) [20]
i)  Define financial management
i)  Define Defence management
i)  Define Strategic Planning
iv)  What do you mean by public Good?
v)  Define threat perception?
vi) What are the limitations of Defence management?
vi) Define performance budget
vii) Define deficit budget
ix) Write the meaning of Structured Budget
x)  Define national power
xi) Define Economic Warfare
xil) What are the sources of War expenditure?

xiii) Write any two features of ‘Zero Base Budget’

PTO.



02) Answer in 50 words ach (any two). [10]
i)  Explain advantages of ‘Free Market Economy’.
i)  Discuss economic theories of defence.

i) How parliament control over defence Budget? Discuss.

03) Answer in 150 words each (any two). [20]
i)  Explain methods of war Finance
i)  Discuss problems of modernization programme of Indian Armed Forces

iii) Write a note on the role of financial advisor in defence services

04) Answer in 300 words each (any two). [30]
i)  Analyses trends in India’s defence spending since 1990’s.
i)  What are the elements of war potential? Explain in details.

iii) Explain relationship between war and science of economics.

17774

[4963]-327 .



Total No. of Questions : 4]

P1150

[4963]-327
T.Y.B.Com. (Paper -11I)
fTrg o= & wTEATE 38 HASiiwe
TGIYUT IETAUTeh SATUT 9URATda o~ saazema=
(2008 Pattern)
(TSt wUTaR)
g :3 @ | [ v 77 £ 80

gear : 1) @d g7 @isfao sravasds Sigd.
2) 3IwdiESteT si% JUT FIAATA.

g7 1) e 2() vsaTa ITW AT (SRIUTAET 28) [20]
) ‘Tafracgerua’ swE @ 0.
i) “EREIUT SHERYTIA’ SATEAT .
i) “aTRetEeT s @
iv) Useiieh T TEUN T ?
V) TSt HeheudT ST gl
vi) ERYIUTSITEATIATEAT HATET hIvTeT ?
vil) ST sdEed SaTEAT ST
vii) Tl géren srdveeu samea .
iX) TeATeHe® stefdehey atef forgr.
X) g IIehl SaTEET S .
Xi) 3TTfeieh Jegugdt SaTEAT S
xii) Fegfieht SWRUATER T woT ?
xiil) YN stefEReuTa g1 Ut forer.

_3-



797 2)

797 3)

97 4)

50 vTsaTd IW ST, (HIUTAE ) [10]
) T TR TSI HH TIY FH.

i) ERerUTTEAT anfdeR - faegTaTiawER Tt wu.

iil) FEE TGV AETAUTE hIMIhR =t e 2wt &,

150 vregTa ST 1. (RIVTAET 3) [20]
i) geefeh survaTe fafay ugdt T &
i) WRATEAT WIE VTGS Y RIRTUTEAT kAT AT e

qrad’ o=t .

i) ERETOT Vet ATfeiR TgTTRT YiteRt arar feuur forgr.

300 yreaTa I AT, (HIUEE ) [30]
) 1990 e¥=ar WRATEAT T WA HA (v=H) o faverwor & ?
i) JLEeHAY TEH HIUT ? HISER TIY AT

i) g AT AT AT TAY TAY HA.
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Total No. of Questions : 6] SEAT No. :

P1151 [Total No. of Pages : 3
[4963]-328
T.Y. B.Com.
INSURANCE, TRANSPORT AND TOURISM

(2008 Pattern) (Paper -III)
Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Enumerate the functions and working of PATA (Pacific Air Travel Association)[14]

02) Explain the factors related to Travel and Tourism Business. [14]
OR

Explain the importance of passport and visa for International Tour. [14]

03) a) Explain the role of city guides in tours. (7]

b)  Write a brief note on tourism in Hong-Kong. (7]
OR

a) State the significance of tour-operator in Tourism. [7]

b)  Write a note on Availability of food services at Thailand. [7]

Q4) Describe the comparative study of tourism in India versus tourism in other
countries. [14]

05) Answer the following questions (any two) [14]
a) State the working of WTO (World Tourism Organisation).
b) Write a note on Tour-Accommodation.
c) Explain role of Embassy in International Tour.
d) State the importance of publicity of group-Tours.

06) Explain the Need of Behaviourial Aspect for Tourism. [10]

17774
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Total No. of Questions : 6]

P1151
[4963]-328
T.Y. B.Com.
INSURANCE, TRANSPORT AND TOURISM
(2008 Pattern) (Paper -11I)
(FST EUTaR)
g :3 @ | [ v 797 £ 80

gaar : 1) &@d 97 @slav savas g,
2) 3wAiHSicT i QUi YUT FIIAAra.

gg7 1) ‘dafthes gars am srEfdeyE’ (PATA) <t whrdl arrfon st ferore wher.[14]

gy72) AT SATUT Ued sqaEmamt frda sreeiel ueeh TIY . [14]
feRar
HTAWEE TATETEATST Ureare 3Arfor fogam amar wgea Tg &, [14]

Tg7 3) ) vamEE (IEA) e wEt gvtente (city guides) sfereRt wuE @, [7]

) -k gt ‘uded’ Irer gigea feu fergr. [7]
ferart

) UHEATd ATAT—IATATRTE AT Wged T, [7]

) AFeiE HEd SUAsY el @ra-dat (Food-Services) arar feu

ferar. [7]

97 4) WRATAIA e ATMUT TaR SISl Uied ATdtel geiTeneh AT (wies) foorg
. [14]



gy7 5) WTeltel UgATet ST AT, (SHIUTAE ) [14]
) ‘WATfaes wded wuest’ (WTO) smis |,
q) Udesh HeTHsIaTdT AR orgwETd feu foraT.

W) AT TamEHed ulehd Tehiata (Embassy) =it steereit it T
.

g) THE-IT HeHid UTHE THee Hged |R .

97 6) UHSATHIS! ARG TAAUEhI! A TR TIY . [10]
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Total No. of Questions : 8]

P1152

SEAT No. :

[Total No. of Pages : 2

[4963]-329
T.Y. B. Com

COMPUTER APPLICATION (Paper - III)

MIS, Software Engineering and Enterprise Resource Planning

Time : 3 Hours]

(2008 Pattern)

Instructions to the candidates:
1)  All questions are compulsory.

2)
3)

0l) a)

b)

Figures to the right indicate full marks.
Neat diagrams must be drawn wherever necessary.

Attempt any four of the following:

i)  Enlist various tasks of System Analyst.

i)  What do you mean by Software Engineering?
i) Explain the term “Feasibility Study”.

iv) List out components of Data Dictionary.

v)  Explain the terms: (A) Data Flow & (B) Data Input.

Attempt any two of the following:
i)  What are the Fact Finding Techniques?
i)  Describe different phases of SDLC.

i) Describe Decision Tree with suitable diagram.

02) Attempt any four of the following:

a)
b)
c)
d)
e)

Explain major activities involved in Spiral Model.
Explain Customer Relationship Management.

Write a note on Reverse Engineering & Re-engineering.
Explain Output Design with example.

Explain how BPR is different from MIS.

[Maximum Marks : 80

8]

[8]

[16]

PTO.



03) Attempt any four of the following: [16]
a) Define Testing. Describe its different types.
b) Whatis DFD? Describe Logical and Physical DFD with diagram.
c) Define ERP. Discuss on benefits of ERP.
d) Explain McCall’s Quality Factors.
e) Write a note on ISO Standards.

04) Attempt any four of the following: [16]
a)  What is MIS? Explain role of MIS.
b)  Write a note on Supply Chain Management.
c) Define System Implementation. Explain its strategies.

d) Write a note on Information and Knowledge concepts.
e) Explain CMM Level in detail.

05) Attempt any four of the following: [16]
a) Explain System Requirement Specification.
b) What is System? Explain different types of System.
c) Explain different methods of Data and Information Collection.
d) Write a note on ERD.

e) What are the Prototyping approaches in Software Process?

17774
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Total No. of Questions: 3] SEAT No. :

P1153 [Total No. of Pages: 1
[4963]-330
T.Y.B.Com. Computer Application Vocational (Paper - V)
(2008 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1) All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.

Q1) Answer the following (Any four) [20]
a) Explain Water fall Model to design a website.
b) Explain the use of Internet in Modern World.
c) Explain EDI trade cycle with diagram.
d) Explain five network topologies.
e) Explain Digital Signature.

Q2) Write short notes on (Any three) [15]
a) Intranet
b) Digital Certificate
c) Internet Commerce
d) E-Payment

Q3) Write a program for the following (Any one) [5]
a) To insert background image on web page
b) Divide web page in three vertical frames
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Total No. of Questions : 3] SEAT No.

P1154 [Total No. of Pages : 1
[4963]-331
T.Y.B.Com.
ADVERTISING, SALESPROMOTIONAND SALES MANAGE-
MENT (Paper - V)
Sales - force Management (Vocational)
(2008 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1)  All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Definethe term “Sales Management’? Highlight its importance. [12]
OR
What do you mean by Sales quota? State its objectives.

Q2) Explainthe term “Public relations’. Enumerate its importance. [12]
OR
Define the term ‘Customer relationship management’. State and explain its
objectives.
Q3) Write short notes on (any two) [16]

a) Objectives of motivation

b) Importance of performance appraisal
c) Sales forecasting

d) Ethical aspects of public relations
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Total No. of Questions : 4] SEAT No.

P1155 [Total No. of Pages : 2
[4963]-332
T.Y.B.Com.
TAX PROCEDUREAND PRACTICES
CUSTOMS ACT

(Paper - V) (Vocational)
(2008 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

Q1)

Q2)

1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Answer in 20 words each (Any five) [10]
I) What is mean by ‘Noting of Bill of Entry’?

i) Explain the term ‘Coastal Goods’.

i) What are the objects of W.T.O?

Iv) Who is required to prepare ‘Export Manifest’?

v) What is meant by ‘Customs Station’?

vi) What is meant by ‘Transaction Value’?

vii) What is meant by ‘Basic Customs Duty’?

Answer in 50 words each (Any Two) [8]
I) Explain the ‘nature’ and ‘incidence’ of duty under Customs Act.

i) What is ‘Demurrage’? What are the kinds of demurrage?

i) Distinguish between ‘Baggage’ and ‘Bonafide Baggage’.

Iv) Enumerate administrative set-up under Customs Act.

P.T.O.



Q3) Answer in 150 words each (Any Two) [10]

) Enumerate the costs which are to be added or deducted from the
innvoice-price for determining assessable value.

i) Discuss additional duties under Customs Tarrif Act.When additional duty
is called C.V.D? What are its objects?

i) What is meant by Territorial Waters, Customs Waters and Economical
Zones?

Iv) What is meant by ‘Duty-drawback’? What are the rates of duty-drawback?

Q4) Answer in detail (Any one) [12]

)  Who is called ‘Person in change’? Which documents are required to be
prepared by him at the time of clearance of goods?

i) State and summarise the provisions and procedure under Customs Act,
for clearance of goods at the time of Import and Export.
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Total No. of Questions : 3] SEAT No.

P1156 [Total No. of Pages : 1
[4963]-333

T.Y.B.Com.

ENTREPRENEURSHIP DEVELOPMENT
(Paper - VIB) (Vocational)

1) Computer Application
i) Advertising, Sales Promotion and Sales Management
(2008 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explainany four types of entrepreneur. [12]

OR

Bring out merits and demerits of sole proprietorship.

Q2) Write a detailed note on identification of opportunities for entrepreneurship.
[12]

OR
Explain in detail SWOT Analysis.

Q3) Write short notes on (any two): [16]
a) Entrepreneurial behaviour
b) Functions of District Industries Centre
c) Marketing channels

d) Interpersonal relations
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Total No. of Questions : 4] SEAT No.

P1157 [Total No. of Pages : 2
[4963]-334

T.Y.B.Com. TAXPROCEDURE AND PRACTICES
(Vocational)

ENTREPRENEURSHIP DEVELOPMENT AND
PROJECT REPORT

WORK (Paper - V1)
(2008 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (Any five) [10]
a) Who is an Entrepreneur?
b) What are the learning objectives of an ‘Entrepreneurship’?
c) What is mean by ‘SWOT’ analysis?
d) What do you mean by “Job Specification’?

e) What are the four ‘P’s in place of marketing functions and in marketing
mix?

f) What is mean by ‘Single ownership firm’?

g) What are the objects of ‘Prospects’ of a company?

Q2) Answer in 50 words each (Any Two) [8]
a) What are the containts of “Memorandum of Association’?

b) Enumerate basic qualities of an ‘Entrepreneur’? Describe in brief each
of them.

c) Explain in brief the “types of finances’.
d) Give the difference between “Job description” and ‘Job specification’.
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Q3) Answer in 150 words each (Any two) [10]

a) What is mean by ‘Innovation’? What are the different forms of
‘Innovation’?

b) What are theories of ‘entrepreneurship’ & discuss each of them in brief.
c) Define ‘“Market’? On which criterions markets are classified?

d) What are the salient features of “Joint Stock Company”?

Q4) Answer in 500 words (Any one) [12]

a) Define the term Entrepreneur. Explain need, importance and functions of
Entrepreneur.

b) What is mean by “Human Resource Planning’? Discuss importance of
Human Resource Planning?
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[4963]-334 2



	4963-301
	4963-302
	4963-303
	4963-304
	4963-305
	4963-306
	4963-307
	4963-308
	4963-309
	4963-310
	4963-311
	4963-312
	4963-313
	4963-314
	4963-315
	4963-316
	4963-317
	4963-318
	4963-319
	4963-320
	4963-321
	4963-322
	4963-323
	4963-324
	4963-325
	4963-326
	4963-327
	4963-328
	4963-329
	4963-330
	4963-331
	4963-332
	4963-333
	4963-334

